
© Copyright 2005 Nebraska Irrigation, Inc. All Rights Reserved.

159

A

B

C

D

E

F

G

H

I

J

Parts Breakdowns

PH: 402-564-1514  •  FAX: 402-563-2792  •  Columbus, Nebraska  •  nebraskairrigation.com

Nebraska Irrigation offers options in 
addition to those listed on these pages. 

Call us for details on adding these options. 

NI Booster Box w/ Pressure Switch — 22053

NI Last Tower Control Box — 22009

TOWER CONTROL BOX PARTS

Item NI Part # Qty Description

1 88001 1 Plate, Angle
2 88002 1 Plate, Base
3 72510 1 Gasket, Kit, Foam
4 88013 1 Plate, Vertical
5 938301

91043
1
2

Terminal Strip
Screw, 8-32 x 3/4, Self-Tapping

6 40051
91042

1
2

Contactor, 3-Pole, 40 Amp
Screw, 8-32 x 3/8, Self-Tapping

7 93402 1 Suppressor, Arc
8 77005

91043
1
2

Lug, Ground, Strip
Screw, 8-32 x 3/4, Self-Tapping

9 89630
91042

1
2

Relay
Screw, 8-32 x 3/8, Self-Tapping

10 93601 1 Switch, Disconnect 
11 39006 1 Connector, Cord, w/ Jam Nut, 

1/2" (option w/ basic box)
12 39007 1 Connector, Cord, w/ Jam Nut, 1" 

(option w/ basic box)
13 89022 1 Plug, Flat, Black
14 24008 1 Bushing, Grommet

Item NI Part # Qty Description

1 88001 1 Plate, Angle
2 88002 1 Plate, Base
3 72510 1 Gasket, Kit, Foam
4 88029 1 Plate, Vertical
5 89630

91042
1
2

Relay
Screw, 8-32 x 3/8, Self-Tapping

6 93801
91003

1
2

Terminal Strip
Screw, 8-32 x 1 1/4", Rd. Hd.

7 77005
91043

1
2

Lug, Ground, Strip
Screw, 8-32 x 3/4, Self-Tapping

8 40009
91042

1
2

Contactor, Reversing
Screw, 8-32 x 3/8, Self-Tapping

9 93601 1 Switch, Disconnect
10 93643 1 Switch, Pressure
11 39006 1 Connector, Cord, w/ Jam Nut, 

1/2" (option w/ basic box)
12 39007 1 Connector, Cord, w/ Jam Nut, 

1" (option w/ basic box)

�����

��

��

��������

����
�����

�����

��

��

��

��

��

��

��

�

�

�

�

�

�

�

�

�

�

�

��

��������

�

�

�

�

��

�

�����

��

�

�

�������

��

�

�

�

�

5 

6 

3 

4 

7 

2 

8 1 

9 

12

13

14

11
10

5 

6 

3 

4 

7 

2 

8 

1 

9 1211

10


